

الف) $x \neq 0$ و $x \neq 1$ و $\frac{(x-1)^2 - x^2}{x(x-1)} \geq 0 \rightarrow \frac{-2x+1}{x(x-1)} \geq 0$

$D_f = (-\infty, 0) \cup [\frac{1}{2}, 1)$

ب) $x \neq -1, 0, 1, 2$ و $\frac{3}{x-1} \neq \frac{-1}{x+2}$

$D_f = \mathbb{R} - \{-1, 0, 1, 2\}$

الف) $(\frac{1}{3})^x - 9)(3^x - 4^x) \geq 0 \rightarrow \frac{-2}{+} \frac{2, 4}{-} \rightarrow D_f = (-\infty, -2] \cup [2, +\infty)$

ب) $3 - \sqrt{x-1} \geq 0 \rightarrow \sqrt{x-1} \leq 3 \rightarrow x-1 \leq 9 \rightarrow x \leq 10$ و $x-1 \geq 0 \rightarrow x \geq 1$

$D_f = [1, 10]$

$x^2 - x - 2 > 0 \rightarrow (x-2)(x+1) > 0 \rightarrow \frac{-1}{+} \frac{2}{-} \rightarrow x \in (-\infty, -1) \cup (2, +\infty)$

$x^2 - 1 > 0 \rightarrow x^2 > 1 \rightarrow x > 1 \vee x < -1 \rightarrow D_f = (-\infty, -1) \cup (1, +\infty)$

$-x^2 + ax + 3 > 0 \rightarrow$ $\frac{-2}{+}$ $\frac{3}{-}$ $\rightarrow \frac{c}{a} = -3 = -2 \times b$

$a = -2, b = \frac{3}{2}$

$a+b=1$

$f(x) - x \geq 0 \rightarrow f(x) \geq x \rightarrow 3x-2 \geq x \rightarrow x \geq 1$

$x \geq -3 \leftarrow 2x+3 \geq x$

$D_f = [-3, +\infty)$

$$f(\omega) = Va + V, f(\omega) = 1fa + 1f$$

$$f(-2) = 3a - f \rightarrow 1fa + 1f = 3a - f \rightarrow 1 \cdot a = -1 \rightarrow \boxed{a = -1, 1}$$

5

$$\sqrt{2+\sqrt{3}} + \frac{1}{\sqrt{2+\sqrt{3}}} + \sqrt{2-\sqrt{3}} + \frac{1}{\sqrt{2-\sqrt{3}}} + f$$

$$2(\sqrt{2+\sqrt{3}} + \sqrt{2-\sqrt{3}}) \text{ و } (\sqrt{2+\sqrt{3}} + \sqrt{2-\sqrt{3}})^2 = 9 \rightarrow \sqrt{2+\sqrt{3}} + \sqrt{2-\sqrt{3}} = \sqrt{9} = 3$$

جواب نهایی $\leftarrow \boxed{2\sqrt{9} + f}$

$$\begin{aligned} 2f(x) - 3f(-x) &= (x^2 - x) \rightarrow 2f(x) - 4f(-x) = 1x^2 - 2x \\ 3f(x) + 2f(-x) &= (x^2 + x) \rightarrow -2f(x) + 4f(-x) = 1x^2 + 3x \\ \hline f(x) &= \frac{10x^2 + x}{-5} \end{aligned}$$

$\leftarrow -5f(x) = 10x^2 + x$

$$\rightarrow \boxed{f(x) = -2x^2 - 0.1x}$$

$$\begin{aligned} \text{اگر } x=0 &\rightarrow 2f(0) = 3m - 1 \\ \text{اگر } x=-2 &\rightarrow 4f(0) = 5m + 1 \end{aligned} \rightarrow \begin{aligned} 2m - 3 &= 5m + 1 \\ 3m &= -4 \end{aligned}$$

$m = 1 \rightarrow \boxed{m = 1, 2}$

$$\boxed{f(0) = \frac{2a}{f}}$$

5

$$\text{اگر } x=-1 \rightarrow 2f(-1) = \frac{11}{-1} \rightarrow \boxed{f(-1) = -9}$$

5